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HISTORY
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Match List-1 with List-11 and select the correct answer with the help of the code given

below :
List-1 List-11

(Author) (Definition of History)
(@ E.H.Carr (1)  All history is the history of thought.
(b) G.R.Elton (i)  History is science no less no more.
(c) J.B.Bury (iii) History is what the historian writes.
(d R.G. Collingwood (iv) History is an endless dialogue between the historian

and his facts.

Code :

(@) () (0 (d)
@ @iy (@) ()
@ ) @ (iv) (i)
@ Gy i)y ) ()
@ (v @) (i) ()

2. Match List-1 with List-11 and select the correct answer with the help of the code given

below :
List-1 List-11

(Mesolithic site) (Location)
(@ Birbhanpur (i) Bihar
(b) Loteshwar (i)  Gujarat
(c) Paisra (iii) Uttar Pradesh
(d) Sarai Nahar Rai (iv) West Bengal
Code :

(@) () (9 (d)
@ a0 (iv) (i)
2 Gy @) (i) ()
@ O @i (i) ()
@ (v @) () (iii)
Paper-111 2 JA-006-17
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3.  The earliest evidence of transition from hunting and food gathering to animal
domestication and agriculture in Indian subcontinent has been found at :

(1) Anjira (2) Damb Sadat
(3) Kile Gul Mohammad (4) Mehrgarh

4.  Given below are two statements, one labelled as Assertion (A) and the other as Reason (R)

Assertion (A) : Harrapan civilization was in close trade relations with South
Turkmenistan.

Reason (R) : Harappan objects or those produced under Harappan influence have been
found at Kish, Ur, Nippur, etc.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

5. The discovery of metal was a revolutionary event in human history. Richest copper mines
occurred in which part of India ?

(i) Bihar (i)  Gujarat

(iii) Rajasthan (iv) Tamil Nadu

(1) (@) only (2) (i) and (iii) only
(3) (i), (ii) and (iii) (4) (i), (iii) and (iv)

6.  Which Rigvedic deity is more frequently invoked as being the most useful as also the most
fearsome of the gods ?

(1) Agni (2) Dyaus
(3) Indra (4) Marut

7. Which text makes it evident that the Vedic Sabha and Samiti were two separate
institutions ?

(1) Aitareya Brahmana (2) Atharva Veda
(3) Satapatha Brahmana (4) Yajurveda
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8.  The followers of the Ajivika sect were also known by which other names ?

()  Hatthapalekhana (i) Ekadandika
(iii)) Magandika (iv) Tedandika
Codes :
(1) (i) and (ii) only (2) (i) and (iii) only
(3) (i), (i) and (iii) (4) (i), (iii) and (iv)
9.  Maitch List-1 with List-11 and select the correct answer with the help of the code given

below :

List-1 List-11
(Mahajanapada) (Capital)
(@ Asmaka (1) Hataka
(b) Avanti (i)  Mahishmati
(c) Chedi (iii) Potali
(d) Kamboja (iv) Suktimati
Code :

(@) () () (d)
@ Gy ) aGv) ()
2 @) (i) () (iv)
@ ® (iv) (i) (i)
@ @ @i (v) (i)

10. The ‘Indica’ of Megasthenes is lost, but it survives in fragments in the writings of which
Greeco-Roman authors ?

(i) Ktesias (if)  Pliny the Elder
(iii) Diodorus Siculus (iv) Strabo

Codes :

(1) (i) and (ii) (2) (i), (i) and (iii)
(3) (i), (iii) and (iv) (4) (i) and (iv)

11.  Which one of the following is not true about the Rummindei Pillar Inscription of Asoka ?
(1) Itislocated at Lumbini, a place Asoka had visited personally.
(2) It commemorates his visit to pay reverence to the Buddha Konakamana.
(3) Asoka made the village Lumbini free of the bali payments.
(4) He reduced its land revenue to one eighth.
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12.

13.

14.

15.

Who visited the court of Bindusara as an envoy of the Syrian emperor ?

(1) Claudias
(3) Diodorus

(2) Deimachus
(4) Dionysus

Match List-1 with List-11 and select the correct answer with the help of the code given

below :
List-1

(Missionaries deputed by the

third Buddhist Council)

(@) Majjhantika

(b) Maharakshita

(c) Mahadharmarakshita
(d) Sonaand Uttara
Code :

(@) () (0

@ 0 (iv) (i)
2 O (iv) (i)

@ (v (i) ()
@ @y (@

) (i)

(d)
(i)
(iii)
(i)
(iv)

The Mauryan army was comprised of

(i) Infantry

(iii) Chariots

Code :

(1) (i) and (ii) only

(3) (i), (ii) and (iii) only

List-11
(Respective Areas)

(i) Kashmir and Gandhara
(i) Maharashtra
(iii) Suvarnabhumi

(iv) Yona

(i) Cavalry
(iv) Elephants

(2) (i) and (iii) only
4) (), (i), (iii) and (iv)

Which of the following Tamil poets were associated with Kanchi ?

(1)  Appar

(iii)  Mamulanar
Code :

(1) (i) and (ii) only
(3) (i) and (iv) only

Paper-I111

(i) Paranar

(iv) Sundaramurti

2) (i) and (iii) only
(4)  (iii) and (iv) only
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16. Harishena, the author of Prayaga Prasasti held which of the following offices ?

(1) Khadyatapakika (i)  Kumaramatya
(iii)) Mahadandanayaka (iv) Sandhivigrahika
Code :

(1) (i) and (i)
2) (i) and (iii)

3) (i), (iii) and (iv)

@) (i), (ii), (iii) and (iv)

17.  Which among the following is the biggest Jaina image ?
(1) Monolithic image of Gommata at Shravanabelagola
(2) Parsvanatha image of Gwalior
(3) Jaina image in the Udaygiri caves
(4) Parsvanatha image of Bhojapur

18. Which of the following inscriptions of Samudragupta describe him as a ‘Parama
Bhagavata’ ?

(i) Gaya Copper Plate

(i)  Nalanda Copper-plate

(iii) Eran Pillar Inscription

(iv) Allahabad Pillar Inscription

Code :
(1) (iv) only (2) (i) and (ii) only
(3) (iii) and (iv) only 4) (i), (i) and (iv) only

19.  Which new type of gold coins were started by Kumaragupta | ?
(i)  Apratigha Type
(i)  Elephant Rider Type
(iii) Rhinoceros Slayer Type
(iv) Sword Type
Code :
(1) (i) only
(2) (i) and (ii) only
(3) (i), (i) and (iii) only
4) (), (i), (iii) and (iv)

Paper-111 10 JA-006-17
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20. Match List-1 with List-11 and select the correct answer with the help of the code given
below :

List-1 List-11

(Dynasty) (Founder)
(@) Uttar Gupta (1) Kirishnagupta
(b) Maukhari (if) Asvapati
(c) Pushyabhuti (iii) Naravardhana
(d) Varman (iv) Pushyavarman
Code :

() (b) (©) (d)
1) (i) (i) () (iv)
@ (iv) (i) (i)
@ 0 (ii) (i) (iv)
@) () ) (ii) (iii)

~—~

21. Apart from Harsha the Chinese traveller Yuan Chwang had occasion to meet which other
contemporary rulers ?

(1)  King of Gauda (i)  King of Kashmir
(ili) King of Kanchi (iv) King of Valabhi
Codes :

(@) (i), (it) and (iii) (2) (i), (iii) and (iv)
(3) (i), (ii) and (iv) (4) (i), (iii) and (iv)

22. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : The Pallava king Mahendravarman 1, also known as Vichitra-Chitta,
was a man of unstable mind.

Reason (R) : He professed Jainism for a time, but discared it in favour of Saivism
In the context of the above two statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Paper-111 12 JA-006-17
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23.

24,

25.

26.

217.

Which among the following temples has a Dravidian type of Sikhara ?
(1) Ananta Vasudeva temple, Bhubaneswara

(2) Kandariya Mahadeva temple, Khajuraho.

(3) Lakshman Temple, Sirpur

(4) Teli ka Mandir, Gwalior

Which dynasty of South India claimed that its ancesters had ruled at Ayodhya ?
(1) Chalukyas of Kalyani (2) Cholas
(3) Pallavas (4) Rashtrakutas of Manyakheta

Sri Jaya Indravarman Maharajadhiraja of the Bhrigu family was the ruler of
(1) Champa (2) Java
(3) Kambuja (4) Pagan on Irawadi

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : Bhandarkar equates the Virashaiva with the Lingayat sect and traces its
origin to a split in the Aradhya school of the Saivas.

Reason (R) : Acceptance of Brahamanical rituals and caste ascendency constitutes the
core of the Lingayat movement.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Consider the following statements about Fakhr-i Mudabbir and his Adab-ul Harb wa
Shujaat.
(i) Itisawork written on the science of warfare in the early years of Iltutmish’s reign.

(it)  Fakhr-i Mudabbir praises highly the swords made in India.
(iii) Mudabbir mentions that the iron was smelted at Khetri in Rajasthan.

(iv) He offers the earliest known description of the technique of producing Damascus
steel.

Select the correct answer from the code given below :
(1) (i) and (iii) (2) (iii) and (iv)
(3) (i), (i) and (iii) 4) (), (i) and (iv)

Paper-111 14 JA-006-17
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ST S1 YAl o gy | ffeiiad § | i 91 3 el € ?

(1) (A) 3R (R) 391 W& a1 (R), (A)  T&l =@ E |

(2) (A) 3R (R) 3H T & BT (R), (A) I el e @i € |

(3) (A)Wg WR(R) T |

(4) (A TodE R(R)TIE |

HE-T YR 3R AR SNEE-3 g o I o G § FHefeiiad o o faem &
(i) ¥ oA & VAT & SR G § g i el W ot T2 b & |
(i) E-T &R 7 IR § S+ aoaRT ot ! TR &l & |

(i) R 7 foran ¥ fob ST o Wagt | olie & 3Tahi i ol 31 T gidm o7 |
(iv) o YD LIt S B o R 1 Teh1eh T T HAT ¢ |

FAfeRad el H | Wl IRl 997 Y
1) (i) 3 (iii) ) (i) 3R (iv)
3) (i), (i) i (i) @ (i), (i) &R (iv)
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28.

29.

30.

31.

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : Sultan Zainul Abidin was a great patron of learning and surrounded
himself with learned men with whom he was fond of holding discussions.

Reason (R) : Scholars like Saiyid Muhammad Rumi, Qazi Saiyid Ali Shirazi, Qazi
Jamal and Saiyid Muhammad Sistani left their countries and emigrated to
Kashmir during his reign.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Consider the following statements on Ulugh Khan’s (Balban) relations with the Afghans ?
(1)  Ulugh Khan recruited some 3000 Afghan into his army.

(i) When Ulugh khan became sultan, he placed the newly created military outposts near
Delhi such as Patyali, Kampil and Bhojpur under Afghan control.

(iii) Sultan Balban appointed Afghan noble Ikhtiyaruddin as wazir.
(iv) Sultan Blaban appointed several Afghans as governer.
Select the correct answer from the code given below :

Code :
(1) (i) and (ii) (2) (ii) and (iii)
(3) (iii) and (iv) 4) (), (i) and (iv)

The Sultan ordered , “Whatever they cultivate ... should be assessed by measurement in
accordance with yield per biswa, and all of them should pay half without any distinction.”

In the above statement which of the following Sultan had asked the measurement of land as
the base of assessment ?

(1) Htutmish (2) Alauddin Khalji
(3) Muhammad Tughlaq (4) Firuz Tughlag

Which of the following statements about Amir Khusrau and his music are correct ?
(1)  Amir Khusrau studied the Daccani music of the Karnataka School.

(i)  The great exponent of Deccani/ Karnataka music Naik Gopal was the contemporary
of Amir Khusrau.

(iii) - Amir Khusrau applaud’s his invention of sitar in his work Ghurrat al-Kamal.

(iv) Later works credit Amir Khusrau inventing about nineteen melodic forms,
particularly khyal, tarana and gawl.

Select the correct answer from the code given below :
(1) (i) and (iii) (2) (i) and (iii)
(3) (i), (iii) and (iv) (4) (i), (ii) and (iv)
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28. I 51 oIS ST T & | Uk BT e (A) 3R G I HROT (R) Fal TT & :

FHAT(A) : oA A MEEH T % 95 I ST ¥ 3R FH A 9 B W o, ek
1 TET AT I TS o |

HRUT(R) : 9% IMGHIST & SR AT GeHAg T, Bt A STell ORI, Bt STarer de

T qers, TR 319310 207 i BIgH HYHR H SHAH T T |

UG AT aetet o e |, et o | e a1 W e

(1) (A) 3R (R) 3T F&t & 71 (R), (A) H & AR & |

(2) (A) 3R (R) 39 &I &, oihT (R), (A) i Tt AR el & |

() (AW g (R) e |

(4) (A) T, g (R) T&r & |

29. STHTHT % T AT G (Toia) & Foeli o Gey § Fefeiad et W faem L -
(i) ST @A F SO ST H AT 3000 ST 9 [hT & |
(i) <1 37T @F Goid\ o1, 397 fSoott & Mehe geamet, el 3T WX | 379! 78 9
<FAT TS SR = AT & F72=01 § @ |
(iii) GoTa™ Sote = STHETH TR REAAEEA i ST9AT AR g o |
(iv) FoAdH Fota = 3Tk TR i 3T TR e fhaT |

T 13T e o e ¥ TEt S H TIH

&<

(1) (i) (i) (2)  (ii) = (iii)
(3  (iii) 3R (iv) @ (@), (i) =R (iv)

30. godE 7 AR &, “ag S off 957 R €... SHB! AU Ufd fogen 9s1 5% Ol & oA 9 #
ST =TT, ST Tkl o7 [t STel o SHeHT ST STHT HeAT A1y |7

ST I | [hT Ford = STHIA &l TS Fl FHA o JoAIh 1 TR T ?
(1) seadtE (2) eTSER et
(3) TerE T (4) o e

31, R Gl a¢1 S7% il & aR § fefcifad & @ #5599 w2 92§ 2
(i) TR GEU A FATCH Tpel & SabAT H T ST foham o |
(i)  TFBA/FAES ST & TeH-Fedsh A9 MuTeT 3THR GERT & THHeA o |
(iii) SR TET 7 TGaAR T AT T D U7 I JEAh R 3TA-HHA H B ¢ |
(iv) o % T § STHR GE i Mt & AT S~ HEX Ui, T Y TS, a1 a2 hict

I Gt 1 5 e T e |
T 15T e & e I A 9T
Q) (i) 3 (iii) ) (ii) 3 (iii)
3 (i), (iii) 3R (iv) @ (@), (i) =R (iv)
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32. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : The Indian tradition regarding statecraft was not completely eclipsed
with the coming of the Turks and continued in many peripheral areas.

Reason (R) : The writings of the Vijaynagara ruler, Krishnadeva Raya, Rajasthani
Vigat and Khyat literature and Ramchandra Amatya’s Ajnapatra provide
useful information on Indian statecraft.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

33. Naphta and Mangonels were used for the first time in India in which of the following place/

region ?
(1) Sindh, 712 (2) Khajuraho temple, 950
(3) Deccan, 1130 (4) Panipat, 1526

34. From the following identify the place where Sultan Alauddin Khalji declared himself
Sultan or ascended the throne :

(1) Awadh (2) Delhi
(3) Allahabad (4) Kara

35. Match List-1 with List-11 relating to terms and their meaning :

List-1 List-11
(Term) (Meaning)
(@) Baqgal (i) The lowest grade of agricultural
persant
(b) Balahar (if) an armed man
(c) Silahdar (iii) a group of ten thousand soldiers.
(d) Tuman (iv) grain traders
Select the correct answer from the code given below :

Code :
() (b) (©) (d)
@ aGv) () (i) (i)
@ O @iy (iv) (i)
@) (i) (i) (i) (iv)
@ (v @ (ii) (iii)
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32, i XU ST gt § W U B (A) TAT THT HRIT (R) & |
FHUAT (A) ;T TN Bl YRAT TRT bt % 3T ¥ T e I YA el g3, I8 3Tk Jmid
& o STRY @ |
HROT (R) : [T5ER & WGH FORT T B TS, TSI [ 721 T e 31X Ty
T o SR AT T L Tl W ST G U8 X & |
ST AT % ey B H=teiad B J i 91 S W@l 8 ?
(1) (A) 3R (R) 39 W& &1 (R), (A) Tl =T |
(2) (A) 3R (R) 3H G& & W (R), (A) H Tt AT T € |
(3) (A)Wg WR(R) T |
(4) (A) oI § 3R (R) W€ |

33. TR ST WO Sl TIIT YRS | Geved Fefaiad § 9 e /g 9 fear w2
(1) T, 712 (2) @Rl HRY, 950
(3) T, 1130 (4) U, 1526

34. FEfAREd § 9 39 WM Hl T8I ST a1 Gora STATSE Gersi! § @ 3l et =i 6
31T eI W W & ST R

(1) ey (2) feoet
(3) EcMEER (4) =T

35. SIS AT 39 o W Faited, Fe-1 B Gei-11 o A1 Gaferd

-1 -1
(=) (are)

(a) TR (i) framT = ey o

(b) SRR (i) TH G AT

(c) faemer (i) =9 TR A H TH TE

(d) T3 (iv) T =R

e 5T M0 e H ¥ WEl IR H AT W

% :

(a) (o) (0 (d)
() I () ) (i) (i)
@ @ @iy (v) (i)
@ @ @ (i) (iv)
@ (v @) @iy (i)
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36.

37.

38.

39.

Which of the following sufi saints popularized the Qadiria order in Punjab and Sindh ?
(1) Shaikh Muhammad al-Husaini and Shaikh Abdul Qadir

(2) Shaikh Wajihuddin Ahmad and Shaikh Muhammad Ghaus.

(3) Shaikh Abdullah and Shaikh Qazin

(4) Shaikh Phul and Shaikh Burhanuddin

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) :
Assertion (A) : Muslim political thinking was also shaped by the Adab literature.

Reason (R) : The Adab literature was, to some extent, influenced by the Panchatantra
which was introduced into Arabic literature by Ibn al-Mugaffa’s
translation of Kalila wa Dimna.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Which of the following pair (Author and Source) is not correctly matched ?
Author Source

(1) Nizam ud din Ahmad

(2) Muhammad Kazim

(3) Abdul Hamid Lahori

(4) Kewal Ram

Tabaqgat-i Akbari
Muntakhab-ul Lubab

Padshahnama

Tazkirat-ul Umara

Which of the following is not correct ?

(1) Akbar divided his empire into twelve territorial units. These were called Subas.
(2) A Suba was divided into a number of Sarkars.

(3) A Sarkar was further divided into Parganas.

(4) A Pargana was further divided into Shigs
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36. fr=fofaa o & fob gl Gat 7 it faeitaet st o qen iy # A s 2
(1) G qem™g 3TA-gaHT T I 31T HIMGT
(2) VW ISESEA SRS T VW HEHE M
(3) T FFoeAlE IAT IG HIraA
(4) ¥ B T I R

37. 9 S T9EAl § 9 UH U (A) T AT BROT (R) € |
FHUA (A) : G TSI - S STRT Aifecd = off Wy UgH {6 |

FHROUT(R) : ARE Hed FS &5 ah Uaad & Udad o, o T FTA-GHFER 6 AR
‘Tl o fSHT | SET Wieed 1 aad & e a1 |

S o % Ty | e | W W S g

(1) (A) 3R (R) 3T F&t & 71 (R), (A) F & AR & |

(2) (A) 3R (R) 341 T & Al (R), (A) H Tel 0 Tel ¢ |
(3) (A)Wig WR(R)TE |

(4) (A) T € AR (R) T € |

38. frHfaiEd § 9 i@ 31 Eid ol i 91 el &l Tel € 2

AT® oio)
(1) ™STER 'AT - TqEHA-T 3T
(2) EEHEH - S I
(3) oA TR TR —  UTSeImeAT
(4) HaA T —  TThRA-3A S

39, freAfefad o @ w1 &t @ & 2
(1) 3THeR 3 310 TIHST Sl TRE WIS ¥1eh ehredl H foriford o< feam o | 3= gar el ST o |
(2) U G HE THRI H fIiore g o |
(3) U THR H T A foiir feram e e |
(4) wH T i v | forriete feam St e |
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40.

41.

42.

Which of the following statements are correct ?

(i)  The leading nobles and scholars such as the great litterateur, Khan-i Khanan Abd al
Rahim, and the leading theologian, Shaikh Abd al Nabi were charged with
responsibility for education of Prince Salim.

(i)  Well versed in Persian and Hindi and with a respectable knowledge of Turki, Prince
Salim also possessed a good grounding in History, the natural sciences, geography,
martial skills and theology which were considered appropriate for a prince.

(iii) Prince Shahjahan excelled in the martial arts. He possessed great military prowess.

(iv) Prince Shahjahan, who was born in Ahmadabad, ordered repairs to both Mughal and
pre-Mughal buildings there, revealing a his interest in the maintenance of older

structures.
Choose your answer from the code given below :
Code :
(1) (i) and (iii) only (2) (i), (ii) and (iv) only
(3) (i) and (iv) only (4) (i), (ii) and (iii) only

Match List-1 with List-11 relating to Books and Authors :
List-1 List-11
(Author) (Book)

(@) Catherine B. Asher (i) Mughal Architecture : An Outline of its History and
Development.

(b) R. Nath (it) Architecture of Mughal India
(c) A.J.Qaisar (i) History of Mughal Architecture.
(d) Ebba Koch (iv) Building Construction in Mughal India : The Evidence

from Painting.
Select your answer for the code given below :
Code :

(a) () (0 (d)
@ @ @iy (iv)
@ ) iy o (v) ()
@ @ @i (i) ()
@ (v (i) ) ()

One of the innovation of the Mughals in building technology was pre-fab wooden
structures. These portable homes were known as bangla in the seventeenth century from
which the Anglo-Indian word ‘bungalow’ is derived. Which of the following Mughal
emperor is credited with this innovation ?

(1) Akbar (2) Jahangir
(3) Shahjahan (4) Aurangzeb
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40. TfAfEa 9 9 o 9 FUF 98l 8 ?
(i) TN UiecahR TH-T T 5ol WH a1 T et 3@ STsgel e SI9 ol 3R
e fogt =l STesTe GeAt™ i fore o1 <ifereer Giar T4 |

(i) AR Tl & RAY, &<t qo1 $9 &5 a% qhl 9T H ST T o1, AW AT & 3%
ST % foTT SUFeRT T ST o |
(iii)  ITESTTET IESTET T el § g7 o7 | o I Hivret § AfET o1 |

(iv) SEERER ¥ ST IS VSTl 7 qel et 9o JeT Hict & U9 S THRAT I T
SRR T T T H @I H ST 679 [5ETs |

o e T e S

% :

Q) Fa= (i) 3 (i) @) 3= (i), (i) 3R (iv)
@3) 3= (i) 3 (iv) @) 3= (), (i) 3 (iii)

41. &I TAT Gl H Fated gei-1 B Gei-11 o T GATAd DIy ;
-1 -1
(FrEh) (T&T)
(a) FREE WR (i) eI SMehFR : TF SSSATA 31 227 T Woe Saetase
(b) 3R =™ (ii) 2T 3ii qiTet Sfear
() TS HW (i) Tewdt 31w grret enfepearr
(d) wsI B (iv) fefesT sz g quet She © T sfored hid HicT
T 5T T Fe H ¥ TEl ST B AT H
% :

() (b) () (d)
@ (i) (i) (ii))  (iv)
2 (i) @iy (v) (@)
@ ® (ii) (iii)  (iv)
@4 (Gv) (i) (i) (i)
42. A % GHF B wod FEIT S qele | U S AdiEar o 9 off gd-Ffid oehet % et

T | 37 Ueh STTE & ORI STE o of ST 317 ¥R_7 1 Gofedl Tal § SiTell el ST o, 5
TqE Y STA-TLAT T3 H S T T H AT | 39 T8 dohieh ol 39 g 7Tl SIE9me hi

ST g ?
(1) 3R (2) SRR
(3) IIESTer (4) S
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43.

44,

45.

Consider the following statements relating to various gaz used in the Mughal empire :

(i)  Abul Fazl mentions that Humayun’s gaz-i Sikandari consisted of 32 angusht (digits)
(i)  Abul Fazl records that the length of gaz-i llahi was equal to 41 angusht.
(iii) The length of dira (gaz)-i Shahjani was equal to a little less than 33.5 angusht.

(iv) Tuzuk-i Jahangiri mentions the length of gaz-i Shar‘i as 26 angusht.

Select the correct answer from the codes given below :
@) (), (i) and (iii) (2) (i) and (iv)
(3) (ii)and (iv) (4) (i), (iii) and (iv)

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The European trade in indigo became very important in the first half of
the seventeeth century, after which it experienced a sharp decline.

Reason (R) : There was rise in the price of Agra indigo and the competition from the
slave-worked plantations established in the West Indies.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Which of the following statements is not correct ?

(1) Sarrafs (money changers) specialized in issuing hundis to enable remittances to be
made.

(2) Hundi was a negotiable document, usually transferred at a small discount.

(3) A single rate of ‘exchange’ was fixed for bills drawn at one place upon another
irrespective of remittance or credit.

(4) The hundi itself specified whether it was to be payable on sight, or payable at the end
of a particular period after its presentation to the drawee.
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43.

44,

45.

T It | T o fai=T JanTt o G | 1 e Y foam &
(i)  3T9cT %oTel 7 o & fob gH1g o1 T1-U Taehadt 32 S o |

(i) 3TeT TSTel JaTdT € foh To1-U STl o olae 41 3T & SR o |
(iii) SRT (7T7)-T ST 33.5 S W AvST F o |
(iv) T[H-T SRR H afor € foh T51-T IRE i &7aE 26 S & |

T 3T e T eI @ TEl ST BT 9T
@) (@), (ii) & (iii) 2 (i) &R (iv)
3) (i) AR (iv) 4) (i), (i) A (iv)

e 37 e [RU T E | U B A (A) 3R TE I HROT (R) FeT T E |

FUA (A) . TR VAR & alE B Aol 1 JUE SATIR R Feweqor S T o1 3R 39k
T S S TRIEE 378 |

FHROT(R) : 3R &% AT & God | Jhg g8 a7 oRZgerst | g anm=T, STt 319 & i o, 9
et STy 8t TE |

SRt S e 3w  Frefertan ¥ @ e a ad ¥ 2
(1) (A) 3R (R) I W& & 721 (A) Tt 9 = (R) & |

(2) (A) 3R (R) 3F W &, T (A) H el = (R) T & |
() (AW Fg(R)™@E |

@) (A)TE FIR)TE |

frefefaa & & % o1 % Tet T ¢ 2
(1) oS g2 THA o PIAH & (70 TR (FAT IoRT) Tl ool STRI e H Trerowar ura off |
(2) TSI U faehg SXAEST o1 et W el §E ST gEAiaRoT 81 AT o |

(3) TH WH ¥ TW W & folT IAT U foeli & folw 957t 718 T6T & I 3Tar 07 &
fafm= =t T’ & 3T iRa ®f St o |

(4) T H 9% @0 & W T o & 9% IeheT & 3T § AT grel Uesh UK FA h
YT U AT ety i FEid WIF |
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46.

47.

48.

Which of the following statements are correct ?

(1) There was tradition of an annual ‘sarbat khalsa’ at Chak Guru (Amritsar); but
dissensions grew apace and each chief tended to carve out a separate territory for
himself.

(i)  The Dasam Granth contains compositions of Guru Gobind Singh.

(iii) The Gurus were Khatris and their principal lieutenants, the masands, were also

Khatris.

(iv) The military power of the Gurus reached its apex under the tenth and last Guru,
Gobind Singh.

Select your answer from the code given below :

Code :

@) (), (i) and (iv) only (2) (i) and (iii) only

(3) (i), (iii) and (iv) only (4) (i) and (iii) only

Which of the following statement is not correct ?

(1) Persian was not only the language of higher administration in the Delhi Sultanate and
the Mughal empire, but had also spread to the courts of the Rajput states.

(2) Sirajuddin Ali Arzu propounded the view that Persian and Hindi had fundamental
affinities.

(3) Tek Chand Bahar quotes poets and prose-works in his Bahar-i Ajam which was
written in 1639-40.

(4) A new language Urdu, sprang from the interaction of Persian with Hindi dialects.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Jean de Thevenot, a French traveller writes that the people of Surat
commonly do not drink the water of Tapti river.

Reason (R) : The water of river was brackish.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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46.

47.

48.

T ol | | S-S5 § el 6 2

(i) TS WerEr & dIiue ST i IRl 9 T (3AER) T o, wifeh e ot gavs
T o 3R T TS 3T0H-3T0 o0 STETT TCATShT S ol HIFRTST S oI |

(i) =¥@ U9 § TE Mias e o A € |
(iii) o fom TE @t o 31X 3 U Terde 0us ot @Al o |
(iv) 53T ! ST SHa a1 3T 7%, MR 9 o 99d § o Sg7eT wfreme gs |

T 3T e o e ¥ TEt I H TIH

&<

@) (i), (ii) 3R (iv) Faer ) (ii) 3 (iii) Saer
@3) (i), (iii) 3R (iv) Fae @) (i) 3% (iii) Fact
feAfefEd & | i T H Tt T8l € 2

(1) wRE % Tt Tesg Jo7 Goel Jood | & 3o JRIE i 91T el o, sfesh 98 ST
T & IEERT qe o Teft g8 off |

(2) TREER ol RS T ¥ fTER wiaet fFE F wREr 9] E § g gEe g
off |

(3) 1639-40 W feifid 37Ut fohcld TER-T 350 H THeg eR o UH Hiadi 3R TarcHs Tt
% 3G XU |

(4) wRENF & T e % Hus H S 9 U T W 35 e § o |

T 3 FeFTe ST T € | Teh BT B (A) 3R A I BROT (R) Fel T E |

FHUA (A) G A S S el A forar € fF g |/ @ oI dR UR ATt A& S a Tél
i |

HROT (R) : &I T IH @RI T |

ST T aerTedt o T | FEfefad § 9 BiF 91 Tel § 2
(1) (A) 3R (R) 31 Tel & @1 (A) it Tel = (R) € |
(2) (A) 3R (R) 31 &l & T (A) =l Wl == (R) F&i ¢ |
() (AT FgR) @ |

(4) (A) o &, g (R) W& € |
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49.

50.

51.

Consider the following statements pertaining to customs rates in the Mughal empire :

(i)  Abul Fazl mentions that 2% per cent was the maximum customs duties under Akbar.

.. . . . 1 .
(i)  In Jahangir’s reign customs duties were 3Eper cent on all imports and exports of

goods.
(iii) In Shahjahan’s reign customs duties were 2 per cent on money either gold or silver.

(iv) Aurangzeb fixed a higher custom rates for non-muslims. That is why Muslim
merchants smuggled goods belonging to Hindus to evade higher customs rate.

Select the correct answer from the code given below :
Code :

(1) (i) only

(2) (i) and (iii)

(3) (iii) and (iv)

4) (i), (i) and (iv)

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : When Nizam ul Mulk arrived in the Deccan as the Viceroy in 1714, he
refused to accept Daud Khan’s agreement for the payment of the Chauth
and Sardeshmukhi of the Deccan to Shahu.

Reason (R) : Nizam ul Mulk inflicted a couple of defeats on them, and destroyed the
small mud forts which they had built in every district and which served
as a base of attack or a place of refuge to the Maratha bands.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

When and where the ‘Society for Translating European Sciences’ was set up ?
(1) Bombay in 1825

(2) Punein 1830

(3) Calcuttain 1825

(4) Lahore in 1824
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49.

50.

51.

T AT § Yeferd ST 3[edh & 9ag § = el 1 faar it

(i) Tt Forel foradn & o 3Thay o 1ol | STfeshad FrHT ok Z%En“ﬂ?]ﬁ o |

(i) STEFR % T & YR % 3TEmd-fFard o 3%%%%31@5% |

(iii) MESTEl % GHT &9 W 2 WA T G Yo o, 91 98 9 @ At |t |

(iv) IRSIg F TR & o @97 3o a3 S W@ | 38T JRerd ARt et @
St Yo 3T W T9H & {o1T 39 1 9 U1 H o o o |

et ST Pz W TET IR B TG B

FT

1) & (i) (@) (i) @ (ii)
(3)  (iii) =R (iv) @ (@), (i) =R (iv)

T 3T FeRTe XU T €, U B BT (A) SR TEL Bl HROT (R) el T € |

FUA (A) 59 1714 H HH-3A-o% TERE & €T H SHh dgdl df 39 WG I TFHT h
T TAT TSI & A Tl S8 @M o FH Sl T F $HR A T2 |

FHROT(R) : M-S Goob o 3% g IR WISTT (hal T 37 §RT Uedeh STel § a-1g 70 fivgt
% BIC fehetl T e T f5aT ST STTer of g9t o GaTel s ool TRIST Qe
T THST BT IRUT WAl & &7 H fohaT et o |

UGS T FTAT o T § MEfiad § ¥ % 91 98l § 2
(1) (A) 3R (R) 3T W&l & @ (A) Tt Tel === (R) € |

(2) (A) 3R (R) 3T & & fohg (A) =l T == (R) F&i ¢ |
() (A)wis g (R)T™ae |

(4) (A)Tea s, g (R) W& § |

TS B ZGeifer ZRITE g’ i T e 31T Fal g8 2
(1) df= 918254

(2) Yo H 1830

(3) HohaT H 1825 H

(4) ww@RH 18244
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52.

53.

54.

Match List-1 with List-11 and choose correct answer from the code given below :

List-1 List-11
(@) Bakht Khan (i) Bareilly
(b) Maulavi Ahmadulla (i) Jagdishpur
(c) Kunwar Singh (iii) Lucknow
(d) Hazrat Mahal (iv) Faizabad

Code :

(a) (b) (c) (d)
@ 0 (iv) (i) (iii)
(2) (i) (iv) (D) (iii)
3 i) (D) (i) (iv)
@ (v) (i) () (iii)

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The decline of the traditional handicraft cottage industries was the result
of British commercial policy.

Reason (R) : The imperialist conquests had given immerse resources to the British.
In the context of the above two statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The Liberals genuinely believed that there was a constitutional way to
India’s self rule.

Reason (R) : They had an abiding faith in the British senses of justice.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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52.  gei-1 % Q1Y GEl-11 1 GAfeTd Y | e oht Terdar & Hel 3T I |

-1 -1
(a) o= @A (i) =Rl
(b) et stEHgeeT (i)  STTEegR
(c) R f&E (iii) =TS
(d) &Ra me (iv) eTeTg

FT
(@) () (0 (d)
@ ® (iv) (i) (i)
@ @) (v (@ (iii)
@) (i) () (i) ()
@ (v @) () (iii)

53, o S0 ST oAl § | U B (A) G997 TET BRI (R) T
FUA (A)  TRUNE TR FR AT BT 19 (e iies et 1 giom o |
HRUT (R) : AHIAR! oot =+ fofeer s ST Tare 3ueisy FT 9 |
SIS ST o % el § e | | B w2
(1) (A) 3R (R) 39 &l € 3R (R), (A) F e AR & |
(2) (A) 3R (R) 3H T & W (R), (A) i T&t =AM Fal & |
(3) (A)Wg WR(R) T |
(4) (A)TEE W(R)WIE |

54, 9 ST ST Al § | U HU (A) T97 TET HROT (R) €

FUA (A) : IIRART aRd | [avamg W@ & fF YR & SR 1 Uk Siaent—es gnT o |
HRUT (R) : D (ST RUFaT & Uid gg ST of |
SIS YA % Gl H = § F B W w2
(1) (A) 3R (R) 3H T & 7 (R), (A) i & AR T |
(2) (A) R (R) 34 W& & W (R), (A) Fl el = F&i & |
(3) (AW g R(R) ML |
(4) (A)TEE T(R)FIE |
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55. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : According to Vivekanand : “Caste system is opposed to the religion of
the Vedanta.”

Reason (R) : All evil comes from relying upon differences. All good comes from faith
in equality, in the understanding of the underlying sameness and oneness
of things.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

56. Who among the following had not been involved in floating the idea of permanent
settlement for Bengal ?

(1) Alexander Dow (2) Thomas Law
(3) Montgomery Martin (4) Philip Francis

57. Arrange chronologically the following tribal rebellions :

(@ Rampa (b) Santal

(c) Kol (d) Munda under Birsa
Select the correct answer from the codes given below :

Codes :

(1) (b), (c), (a), (d) 2 (c), (), (a) (d)
@) (), (), (c), (b) (4) (b), (d), (c). (a)

58. 'Who among the following were revolutionary leaders ?

(@) Barkatulla (b) Khizar Hayat Khan
(c) Obeidulla Sindhi (d Mahmud Hasan
Select the correct answer from the code given below :

Code :

(1) (a), (b) and (c) (2) (a), (b) and (d)
(3) (b), (c) and (d) (4) (), (c) and (d)
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55. = 51 oeed ST U §, Uk ol e (A) 3R T T HROT (R) Fel T |
FUA (A) : [TIRFT % AR S Hew AT o 91 o fo6g & |

HROT(R) : ol KTt sl W fovarg & @ ot & | Tt o1esTe quHar W e 9 fafed
Ueheel U6 Ueh&TdT ol THST § Tl & |

ST I SIS o Ty § T § 9 i 91 Tl g ?

(1) (A) 3R (R) 3H T & 7 (R), (A) i T& AR T |

(2) (A) R (R) 34 W& & W (R), (A) Fl el = F&i € |
(3) (A)Wig WR(R) T |

(4 (A)TAE R(R)TE |

56. STIeT % T Sg e ol foar 3 dg § (=feiiad o | i Ush IMTHeT el o ?
(1) UerRieX e (2) o @
(3) Hi=RT AifeA (4) TwfeTa witad

57. T=TaiEd ST fosiEr S SIehATER e HifT
(@ T
(b) T
(c) =
(d) foan & =g & g
T 13T T e ¥ TEl T H TI A
% :
(1) (b), (), (3), (d) (2) (c), (b), (a) (d)
(3 (d). (@), (c), (b) 4) (), (d), (c), (a)

58. fr=feifEad § @ - shifdeR] T & ?

(a) et (b) TR EaE @=
(c)  rgoe e (d) weus e
e 5T %o 9 Tel 3T M

B!

(1) (a), (b) &R (c) ) (a), (b) 3R (d)
(3) (b), (c) ¥R (d) 4) (a), (c) ¥R (d)
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59.

60.

61.

62.

63.

In which session of the Indian National Congress, a policy about the princely states was
first time enunciated ?

(1) Nagpur, 1920 (2) Tripura, 1939
(3) Haripura, 1938 (4) Karachi, 1931

In which session, Congress passed the resolution of ‘Poorna Swaraj’ ?
(1) Lahore Session (2) Calcutta Session

(3) Madras Session (4) Lucknow Session

Which one of the following organizations was established in 1942 by the leftiest women
leaders in Bengal ?

(1) Mahila Sudharna Samiti (2) Mahila Samajwadi Samiti
(3) Mahila Suraksha Samiti (4) Mahila Atmarakshan Samiti

Who among the following was the first Indian women President of Indian National
Congress ?

(1) Aruna Asaf Ali (2) Sucheta Kirpalani
(3) Sarojini Naidu (4) Latika Ghosh

Match List-1 with List-11 and choose correct answer from the code given below :

List-1 List-11
(@) Bamabodhini (i) started by Dwijendranath Tagore
(b) Mahila (i) edited by Umesh Chandra Dutta
(c) Bharati (iii) edited by Girish Chandra Sen
(d) Suprabhat (iv) started by Kumudini and Basanti Mitra

Code :

(a) (b) (©) (d)
@ v @ (i) (i)
2 (i) (i) () (iv)
) () (i) (i) (iv)
4 (i) (iv) (i) (i)
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59.

60.

61.

62.

63.

e A HUF & fhq AfaavH O <4 Emdt & 9 5 ygelt aR et Aifa 1 ufdques fear
T 2

(1) =T, 1920 (2) g, 1939
(3) 'R, 1938 (4) e, 1931

HUG 7 o SATEe § ot TR 31 IR I {6 o1 ?
(1) R seeE (2) o SERE
(3) W AfavH (4) &S AETH

ST Bt STAYeT Higet Jarett 7 1942 § = 9 9 fhg G sl T 6 ot ?
(1) wfee garon HiHia (2) feeT wETSTETET AfEfT
(3) HfeeT Heam WiHAld (4) Hfgem scaeToT Ghafa

refefEd 5 9 S 2feae A9 SHiUE i Ugell YRAT HigoT 31ee] off ?

(1) TEOT T 3Tt (2) e FUAHT
(3) TR AIg (4) e =9

GE-1 B GE-11 & a1 Gaferd BT g i i5T T el 6 Ferd 9 98l SRS
-1 -1
(a) @R (1) o SR gR uRy
(b) Hfgen (i) U o 1 ERT WUIed
(C) wRe (iii) firdver == & g Hoifea
(d) T (iv) Tt o sgw=t i gRT Ry
% :
(a) (b) (c) (d)
@ Gy @ (i) (i)
2 (i) (i) () (iv)
) () (i) (i) (iv)
4 (i) (v) (i) (i)
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64.

65.

66.

67.

68.

69.

70.

Khudai Khidmatgars were popularly known as the
(1) Green Shirts (2) Red Shirts
(3) Black Shirts (4) White Shirts

Aryasamaji leader Mr.Harvilas Sarada belonged to which part of India ?
(1) Rajasthan (2) Maharashtra
(3) Gujarat (4) Punjab

Which area’s communists launched a massive campaign with the slogan ‘Throw the
American model into the Arabian sea’ ?

(1) Area of Nagpur State (2) Area of Nizam state
(3) Areaof N.W. Travancore state (4) Area of Bhagalpur

The most militant struggle was the Tebhaga struggle by the Share-croppers of Bengal.

They declared that they would not pay of the crop to the landlords.
1 1
1) = 2) =
1) 3 () 2
1 1
3) = 4) =
©) 5 (4) 5

In which year the National Congress passed a resolution calling upon the Indian people ‘to
refrain from the use of Japanese goods’ ?

(1) 1936 (2) 1937
(3) 1938 (4) 1939

Arrange the following events in chronological order :

(@) Subhash Chandra Bose had a meeting with Mr. Tojo.
(b) Subhash Chandra Bose arrived at Taipei.

(c) INA hoists the National Flag on the free Indian soil.
(d) Establishment of Indian National Army.

Select the correct answer from the code given below :

Code :
(1) (d), (@), (c), (b) (2) (d), (c), (a), (b)
(3) (d), (@), (b), (c) 4)  (d), (b), (©), (a)

Who said the following ‘invoke the aid of the almighty to take me away from this ‘vale of
tears’ rather than make me a helpless witness of the butchery by men become savage,
whether he dares to call himself a Muslim or Hindu or what not’ ?

(1) M.K. Gandhi (2) Abdul Gaffar Khan
(3) Vinoba Bhave (4) Maulana Abul Kalam Azad
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64.

65.

66.

67.

68.

69.

70.

GRTE REGHATRI i 3T AT o6 A & ST & 2

(1) &0 et ot (2) et it et
(3) el el amet (4) TS A A
T TS =T & ERaeTd IRET 1 ey TR & (9 9T § o7 ?
(1) T (2) TR
(3) TR (4) U

T & o Qrgentsal 7 39 AR % WY U IR STIH I TR o i “smfkent Hieet # oRa
TR | Sl | ?

(1) AR = & & (2) oM RcFaT

(3) ST U= JERR W & & (4) TR & &

ST o TCTeR [T (FR-ShIUR) T U Fod Hed SRR o, 5w fohami = =iwom =6t off i
3 STHIRRT T A H 9T 3787 F&T L |

1) (2)

3) (4)

ol Wik
N, N

‘ST ST T TG Big” 1 UK AL Hiog A g a9 uia foar o, e gqes fow
IR & 37dieT s TS off ?

(1) 1936 2) 1937

(3) 1938 (4) 1939

=t geTeT Sl HTFIER Sared ST ;

(d) FUTES TG D S AT T S |

(b) FHTE S I AU W SAFTEA |

(C) E TF T Toe WA i €Yal W TS €] FelrT |
(d) fea S9reT ST B T |

e ST 7T P2 ¥ Fel ST A T3 DT ;

S
(1) (d), (@, (c), (b) (2) (d), (c), (a), (b)
(3) (d), (@), (b), (c) (4) (d), (b), (c), (@)

‘J I GT H GHATH, &g I F ot X A &, T F T & W Y g = §, q9f 39
3T 9 W TG Bl STTE H TR & WEHT e 1o 9 g2 30 3@ R 341 & of ST 17
T Uit Fefefad § 9 feeaet € 2

(1) TAF mHE (2) T TEER @I

(3) ferrem vl (4) T ST FHAH
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71.

72.

73.

74.

75.

Who among the following described the redistribution of provinces on linguistic basis as
‘assassins of nationalism” ?

(1) K. M. Munshi (2) Sardar Vallabhbhai Patel
(3) Jawaharlal Nehru (4) Jamanalal Bajaj

Which one of the following was not an aspect of the official policy of ‘Apartheid” ?
(1) Racial Segregation.

(2) Separate but equal development of the Africans.

(3) Laws prohibiting mixed marriages.

(4) Patronizing native culture of the Africans.

Match List-1 with List-11 and choose correct answer from the code given below :

List-1 List-11
(Author) (Book)
(@ J.A. Hobson (i) Neo-colonialism, the last stage of Imperialism
(b) Lenin (i1) Imperialism : A Study
(c) K.Nkrumah (i11) Imperialism as the highest state of Capitalism
(d) R.H. Tawney (iv) Religion and the Rise of Capitalism.

Code :

(a) (b) (c) (d)
@ @iy (i) () (iv)
2 () @iy (v) (i)
3 (i) (i) () (iv)
@ (v) (i) i)y ()

Who among the following expressed grave doubts about Ranke’s tall claim regarding
‘objective’ and ‘impartial” history ?

(1) George Waitz (2) E.H.Carr
(3) Heinrich Von Sybel (4) Dove

In which year the ‘non-proliferation’ treaty was signed ?
(1) 1956 (2) 1963
(3) 1982 (4) 1990
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71.

72.

73.

74.

75.

frfafad § 9 forem ATl SeR o) it o 9: faawor st It st g o qH Jarar ?
(1) uy. gen (2) URR TooTIE oo
(3) SR 8% (4) STEATATA FSTST

frfafad 5 & &I TS 6l it 1 =i 37 T8t o1 2
(1) T geRn

(2) 3TRITHAT T TR W GHH T

(3) 3iqaviyg foamel W uidey & fou Hre

(4)  3TRITHAT I Yot TEHIcT T TIRI0T

el T GeA-11 % A1 GAferd Y a1 He ht Terdal ¥ Fel 3T S0

-1 -1

(FHET) (TT)
(a) .U gsEA (i) T Ficntaferss, § oRe RT3 ShRafersa
(b) = (i) EHifEfesT : T s
(C) . TIHHE (iii) HRAAT T T BTE0e Ve 3 higefersy
(d) eTRT=. et (iv) et g T e 31 Hideiers

T

(a) (b) (c) (d)
@ @iy (i) () (iv)
2 () @iy (v) (i)
3) (i) (i) (i) (iv)
@ (v) (i) i)y ()
frfeiad & foree s o ‘aRques’ U9 ‘o e & 9 S % HaY | TR Se e
foam 2

(1) SIS ot (2) ETE WX
(3) &R A WEaA (4) =@

“F-TNTRI’ G 9 fhg a9 g&de 6T g 2
(1) 1956 (2) 1963
(3) 1982 (4) 1990
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